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Chemistry
Stoichiometry and concentrations

7 A L. To a beaker, 20.0 ml of 0.100 M AgNO; has an aqueous‘ solution of 0. OSM NaCl, added causing a
jﬁﬁix e SOhdat.o p;s:gtg: complete balanced equation. / j§§f\ééi? - e : \é{‘ f gj“‘:; ;s “”"g‘
%}jix“{ : %g"-,i"’%w b. How many moles of AgNO; are present before the reacnon‘?
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How many mL of NaCl will be needed to reach equwalence‘?
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What is the concentratlon of each ion in solution at equwalence‘? 7 :
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Draw a picture of the beaker at equwalence Show particle proportionality.
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5 20.0 mL of 0.200 M NaOHg,) is added to 10.0mL of 0.200M HCley. Answer the following

questions from the information provided.
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a. Using proportions, which item is the limiting reactant?

b. Write the complete | balanced equation and create an ISE table below
NEOH (aq) + 1GN — NaCl@g)'+ H0
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c. What is-the concenisratloﬁ -of each ion before any neutrahzatmn'f —

;f%?"v’ T i BL@ ‘w zﬁ;a {ji: y”“‘ﬁ £y “‘i*sc i{i {’j

d. Whati is the concentration of each ion in the solution after mlxed'?
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e. Drawa plCtllI‘e of the finai beaker. Show particle proportionality.
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£  How many more mL would be needed to get the reaction to equivalence?

(Equivalence means equal moles)
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3. To abeaker, 50mL of 0.2M HBr is added to 50 mL of 0.3M KOH.

a. Write the complete balanced equation and complete an ISE table below.
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- b. Which reactant is the limiting reactant? B
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¢. How much water is produced?
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\ d. Determine the following concentrations:

o H* Br! K* OH-
T Before: . 7 - 2 A
After:
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Pt ¢. Draw a picture of the before beakers (left) and final beaker (right). Show particle
S proportionality.

egd On E%&.é \‘gfi?:@f’é“%’w"*c?iz :

{ i, {‘w E,.;‘Jf Fo oo

4. To abeaker, 50mL of 0.2M CaCl, is added to 50 mL of 0.4M Nas;PQ; forming a white solid at

the bottom of the solution.
Complege an ISE table for the following reaction

3CaGlh + 2NPO; — Ca3(POshys #+6Nabiaq)
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e ¥ f  Draw a picture of the final beaker. Show particle propo}tionality.
What are the spectator ions in this process? L
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h. What ion should not be present in the drawing to the right?
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i. Determine the following concentrations:
Ca** CI! Na'l PO
Before ; ; ¢ - o
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After. : i

Note: If you cannot determine the
concentration proportionally,
simply use the ISE table, divide
new moles by new volume.
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) iA OQMWQ?: 28mL is added to 30mL of 0.4M Nal forming solid Cal». :

AL ich ionfés{,prec;jpitateqwgm-“céﬁ‘sing the reaction tostop? (no calculator)
b. Drawapicture of firat beaker. If yaghaﬂ{g_vstuck”i‘;vﬁte MSE"‘tﬁBi@\iand alculate.
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